A £ 0l & AF & S

Al A

AE2™E K& 2 FAl2c (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rafain; 67,351,405 21,780,470 45,570,935
= 42,814,277
== 4,391,203
[Ea 20,145,925
ALy 127,118 52,118 75,000
= 60,500
Ea 66,618
A8y Nd & =R 66,618 52,118 14,500
=37A 2¢c| 24,752 21,252 3,500
201 fet=23y| 20,000 16,500 3,500
01 AtR2te|HI 20,000 16,500 3,500
O=&ERA S5 €7
500,000 402 20,000
202 04| 4,752 4,752
01 =LHO LI 4,752 4,752
O=&7A FAl2c| =& 4,752
otd 7S 2te| 25,678 20,678 5,000
201 Ler=23| 14,400 14,400 0
01 AtR2te|Hl 9,600 9,600 0
Octa 7 Y A ZAE, S5 4
Xl 60,0002 *100H 2=+ 162 9,600
02 s3=gHl 4,800 4,800 0
OolEAMES(H+=S2) HIIe=s R
400,000 123 4,800
202 04l 1,278 1,278
01 2LHoIH 1,278 1,278
OotEZAIE R =X 1,278
401 AlZHIZ S 0HbI 10,000 5,000 5,000
01 A28l 10,000 5,000 5,000
OdtEAEZE RAEs 10,000
NI HE & e 3,000 3,000 0
201 et 3| 3,000 3,000
01 At22t2l] 3,000 3,000
OMAEXE AT s+ M& & £X
60,0003 *10JH 2=%52] 3,000
AOILRZ a2t dE 2t 5,000 0 5,000
401 AIZHIYL S IHE 5,000 5,000
01 Al&H| 5,000 5,000
OF4af2Z e R+ 5,000
29 2l 8,188 7,188 1,000
201 ZBt=Ehl 7,000 6,000 1,000
01 AtR2t2|HI 7,000 6,000 1,000




S A
3 A4y
el HEdd XA 2 ]2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ27e SH#s| AT EXE, S84 X
I 24X 70,0003 %1004 2=+ 102 7,000
202 04dl 1,188 1,188
01 2L AL 1,188 1,188
OEZ+7Y =Yd? A-g: =4 1,188
THoH S A 60,500 0 60,500
= 60,500
7.97.19 HOt2 JIEtAIE TS SAL 60,500 0 60,500
= 60,500
401 Al HIZL 201 60,500 0 60,500
= 60,500
01 AlZ28| 60,500 0 60,500
Ot x5 =72 60,500
= 60,500
e #xgy 35,879,997 10,273,220 25,606,777
= 23,537,288
= 368,144
o 11,974,565
= Y 4,340,000 3,112,000 1,228,000
== 240,000
o 4,100,000
Araroloid XY T2 (KIS ALY) 3,500,000 0 3,500,000
401 AIEHIZ SR 0HYI 3,500,000 0 3,500,000
01 Al&H| 3,500,000 0 3,500,000
OodgoId M2 £y 3,500,000
A2 =2 &2 500,000 400,000 100,000
401 Al HIZ 2018 500,000 400,000 100,000
01 Al&HI 500,000 400,000 100,000
o~ = &g 500,000
PE 20sd HEHE 200,000 692,000 A492,000
=S 100,000
s 100,000
401 AIEHIZ SR THYI 200,000 692,000 492,000
== 100,000
[Ea 100,000
01 Al&H| 200,000 692,000 A492,000
OR& Z&9sd dee 200,000
& 100,000
= 100,000
ot FE4 ! HuiE £X 140,000 140,000 0
= 140,000
401 Al HIZL S 0HYI 140,000 140,000 0
& 140,000




SA: AT
o T2 HEE
H°el 2 =Ry (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
01 Al&HI 140,000 140,000 0
Ot FE ¢l a8 uiZ £X SA 140,000
= 140,000
sHELZ =2 E 2,500,000 1,300,000 1,200,000
GO HEEX SHEEZZ =2 Y 500,000 0 500,000
401 Al HIZL 201 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OO0t AHEHK sOHEEZ 2 Y 500,000
o HE sHEZZ0ISE =2 1,400,000 1,000,000 400,000
401 Al HIX S0 1,400,000 1,000,000 400,000
01 AlZH| 1,400,000 1,000,000 400,000
Ot M8 sHEZZ 1012 &2 H 1,400,000
AE gl sOHEZZ EXY 600,000 0 600,000
401 AIEHIZL SR 0HYI 600,000 600,000
01 AlZ8| 600,000 600,000
OgE &A= S0ERR &2 600,000
C2RA E=AY 3,549, 164 4,191,220 A642,056
= 128,144
= 3,421,020
OHEl0I2E 7 HE(EX)(HEAY) 122,000 115,000 7,000
= 61,000
Ea 61,000
401 AIEHIX S0HH 122,000 115,000 7,000
= 61,000
o 61,000
01 AlZ2H| 122,000 115,000 7,000
ONE0IESTAMMH(EX) 122,000
== 61,000
[Ea 61,000
o ¥ SHEZZ |2 818,420 2,778,420 21,960,000
201 er23| 4,000 4,000 0
02 S5=2g4l 4,000 4,000 0
Ok2=&xtg A&l 4,000
202 04t 7,128 7,128
01 =LHNHI 7,128 7,128
OczzelgeEx 7,128
203 =4l 2,000 2,000
03 A=A 2= 2,000 2,000
OEZAIMFZ 200,000& %102 2,000
206 MH=HI 28,000 28,000
01 MHZHI 28,000 28,000
Ookz2nd 22 M 8,000




SA AL
M &2 #u¥
=Rl 2R E4AY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL=Z0td AIE2E XM 20,000
401 AIEHIX SO 777,292 2,737,292 21,960,000
01 AlZH| 772,000 2,732,000 A1,960,000
OXhd =24 200,000
OU=gE &1 & 2+ 30,000
ORXE= 370,000
O=2EEX & FH| 22,000
OZ4 M2 sHEZZ 3 150,000
03 Al S THYI 5,292 5,292 0
Ozt & sHEZZ RAE=Hl AIE2H
] 5,292
=& ¥ SHEER ME8K 243 50,000 150,000 100,000
401 Al HIZL 201 50,000 150,000 100,000
01 Al&HI 50,000 150,000 100,000
Ozt & sHEERZ ME2EX 243 50,000
SHl2el & Zaithl 391,600 371,600 20,000
201 er2 3| 216,600 191,600 25,000
01 At2teltl 189,400 184,400 5,000
O&lithtl & =228357 S20H4
8,000& x20& »40 6,400
O&HIS =z 5,000
ON&ZE8Z Xz
5,500,000 «5CH*3Z 82,500
O2:H FHAX Xz 30,000
OO0 21 =Xl 5,000
OHEDI & 2=2d =X 5,000
OJIAHE =AM 1,500
ORcha®)| & M&EI| !X 5,000
OYNHI| =Xl 2,000
OYxEHI(ME85Z)2 Xl 18,000
OE=H FXE M&I| Ry 15,000
OU=sAIE FHEE 7Al2cY| 9,000
OM&XE dits 5,000
02 S3=gl 27,200 7,200 20,000
OzE+2 MRH S38=
500,000& * 122 6,000
ONEE AT RABHIAAE KX
100,000& «12& 1,200
OEHHEXE ME)| RFU 20,000
206 M=l 185,000 185,000
01 M=4l 155,000 185,000
oczFdlg FHI(7s) 5,000
ONMEXM 7& 150,000
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SA: AT
MM C2 SHEE
ol DAMSLR AINER IYEZ A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 800,000 800,000
01 Al&H| 800,000 800,000
Oldts 2B ME2 dYE2 HE 800,000
o= A 23,690,833 23,690,833
= 23,537,288
o 153,545
7.97.19 25 2 sHE =2 MHERSAHKA) 153,545 153,545
401 Al HIZ R 0HbI 153,545 153,545
01 AlZ28| 163,545 163,545
£3 sHEZZ1Rsd M=+ 26,400
OFd 14 2E185d Moo=+ 32,385
OFE SHEZZ6=H Mol =+ 28,433
OAtel SHEZZ07=d Mol =+ 28,336
Ot sSHEEZZ 122 Mol =+ 37,991
7.97.19 25 & sHEEZ MHHEFRSAHEE) 23,537,288 23,537,288
= 23,537,288
401 AIZHIX S0HH 23,537,288 23,537,288
= 23,537,288
01 Al&H| 23,537,288 23,537,288
o262 =81 Hol=SASA 11,139,281
= 11,139,281
OZE 2& ZE95d Moi=S+=SAt 97,449
= 97,449
OZ=2 e 2=NsH HHSASA 85,833
= 85,833
OgE 3 =828 Holl=+73At 112,070
= 112,070
OAtel Mg ZE85H TS TS A 968,744
= 968,744
OAtel =& Z&E3sd MHol=S+SAt 71,065
= 71,065
OAtzl &= ZE15d MHol=S+SAt 84,248
= 84,248
O=28 ¢ 21z Mal=7SA 92,660
= 92,660
OFE sHEEZ205H 21 Mol=SZA 9,930,902
= 9,930,902
Ot SHEZZ 1012 MHol=SAt 151,638
= 151,638
Ot sHEZZ2025H o= SA 61,429
= 61,429
OZHd SHEZZ2065H Mol=S—SAt 123,347




SA AL
M &2 #u¥
CHl: THoHSPALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 123,347
OFd sSHEZZI22H Mol=+SAt 79,8%4
= 79,8%4
O sHEZZ22=2d Mol=SAt 110,927
= 110,927
O SHEZZ30=d =W MHH=s+2
At 103,242
= 103,242
Ot SHEZZ225H MHol=SAt 77,935
= 77,935
OFet SHEZZ204SH MHol=S—SAt 195,617
= 195,617
Oa SHEZZRSH MHol=SRSAt 51,007
= 51,007
A2 H2ALS 6,115,462 4,168,752 1,946,710
A2 XSHE A 3,471,752 4,168,752 697,000
201528 | & 2l 70,000 170,000 100,000
401 Al HIZL 2048 70,000 170,000 100,000
01 Al&H| 70,000 170,000 100,000
OX0lsdd RAE= 70,000
A2 FE=JAY 1,846,752 3,045,752 21,199,000
202 04dl 4,752 4,752 0
01 2L AL 4,752 4,752 0
OAR2 FoU=SAMY FH 4,752
401 AIEHIZ SR OHYI 1,842,000 3,041,000 1,199,000
01 Al&HI 1,832,000 3,031,000 A1,199,000
OFd RH1s2H =2 FHIS A 120,000
OAz AAPHIS+ZAEISAHBE SEXZFD
23) 30,000
Ohs IUHBEHIZANBY SHIFDE
3) 50,000
OarZAld =XI2=4| 1,550,000
OUMZ ARIDBSIALZC|AAE SR
cl 89 22,000
Oll4 OIEH7 R MUEE ZHISA 60,000
03 AIZ S THYI 10,000 10,000 0
OFU=2A A2l 10,000
A Z2AE =i SEFA 1,000,000 1,000,000
401 AIEHIZ SR HYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OALTRZAIE o=+ 1,000,000
2712 RIEAIE FHl 565,000 565,000
401 Al HIZL 201 555,000 555,000




SA: AT
M ARE HIAAMG
Eelr A2 KGN AS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 565,000 0 565,000
O S4SHEEHISA 290,000
OFot FSMEZHISA 190,000
O&et 2=RclANEEHH|ISA 75,000
HoH = AL 2,643,710 0 2,643,710
7.9. ~7.19. 212 o=+ 2,643,710 0 2,643,710
401 AIEHIZ R 0HYI 2,643,710 0 2,643,710
01 Al&H| 2,643,710 0 2,643,710
OCE==2 Moi=+ 75,326
SE2NE Mol =+ 25,438
OQ&ECINAE Moll=+ 23,326
Olfdels=Z MHol=+ 50,003
Ofielsz Moll=+ 35,229
O &ECIAIE ol =+ 24,628
OZ a2 Moll=+ 35,936
OHitelti==2 Mol =+ 21,777
O2Jtelii=2 M= 11,802
O=&elhE MHoll=+ 47,967
OXACINE MHoll=+ 82,402
OZ=cltii=2 Mali=s- 26,095
OAr22IAIE o=+ 77,948
OHI=cI0Ed Y2 Mal=s+ 97,590
2JA2l=2 HH=EF 10,940
Ossels2 Mol=+ 13,183
OsS2AAE M=+ 37,118
O2d3eis=2 Mal=+ 17,754
OR¥elsz M=+ 54,130
OY=22MA Mal=s+ 54,427
Olg2els=E Moo=+ 30,288
OZEINA o=+ 70,459
O=dcls2 Maol=+ 24,236
OADIZEIMIE THa =+ 21,319
ONMEn(24el) Hat=s+ 13,183
O &22ME Mal=+ 52,893
OFot 2LME Toll=- 28,773
OFt MiZ2ti+== Mol =+ 21,232
OFot 2=t+2 M=+ 48,911
Ot A (SH2)MA Malls7 69,286
Ot 2 (HOIz22I212 )52 HHEF 20,856
O =:(XHA3E)=2 Molils+ 17,044
Ot 2x(232)s2 Mals2 19,167
O 2H(HDI222IS2)=s2 M=+ 34,198




SA: AT
M ARD A A
Selr THoHS A (SH &)
CHE - BB - HIRA - BES of e A
OFot HeH(z=2)ME Mal=2 77,948
Ot 2EAMA o=+ 20,893
O FEME W M=+ 25,322
OSJINE Moo=+ 91,782
OAtEMIE Tali=- 75,948
OZSHE Moo=+ 65,386
OSHNE M=+ 34,101
OLZE=Z MHoll=s+ 79,163
Odtes=2 Moil=+ 20,477
O4= A2TME Mali=s-+ 42,11
Oz 2A2s2 Moll=+ 15,381
Oa== OtE2MIE Moll=- 37,997
Oaz ALISE MHoll==+ 40,678
O4= 2 1SZ2LAE =+ 27,149
O4= 152 Mali=s-+ 45,245
O4 SESZ Nolis+ 45,831
Ox= SEIME Moil=-+ 48,576
O S/2=2Z M=+ 36,801
O4 SEAME Noli=-+ 30,156
O2== OE4ME Moll=- 18,281
Oa=z Ol81s2 Moll=+ 13,964
O=sd% ol=(ct223d)s2 Hld Hot=+ 48,087
O=d FLAIE Moll=-+ 36,572
O2F N (2R2)=2 Ma==7 42,998
Ooggclti== M=+ 55,955
O=2% 2L (gez8412)ii== X 19,652
O2% Ss(ss18d)ti=2 M=+ 12,860
OsZ8 ds(sid)s2 Mals+ 13,437
O=d N&s=2 Neli=s+ 13,437
O=% 2s(2s222)Ui=2 M=+ 9,628
O=2F N&E=sZ(2) M=+ 8,062
osgel(2ag)=+=2 M=+ 12,332
Odt2clbi=== Mol ==+ 82,215
O=% 2L (8c=222)=s2 Malls=+ 3,767
O2% FAH(F4232)=s2 M=+ 25,436
O2% FHHE222)=2 Mall==2 18,286
O23 Ss(¥S8s2)s2 Mals=2 7,775
O=d Sss2 Mal=+ 45,158
5 24,775,062 6,526,007
= 19,216,489
= 4,023,059
o 1,535,514




SA: AL
Z: SHETY
chel: otEAHl L RXZel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ol EHl & =Al2el 4,268,840 1,357,800 2,911,040
= 726,040
== 3,477,000
[Ea 65,800
NYotd =Xl2el 51,800 101,800 /50,000
201 2egh=3| 1,800 1,800 0
02 S5=24g4l 1,800 1,800 0
Oug F&xH M= 1,800
401 Al HIZ 01| 50,000 100,000 250,000
01 Al&H| 50,000 100,000 /50,000
OXlgotd FAl2cl 50,000
=JtotE = Xl 2kel 14,000 62,000 /48,000
401 Al HIZ S 0HYI 14,000 62,000 /48,000
01 AlZ2H| 14,000 62,000 /48,000
O=Jtotd FXl2el 14,000
2IHE K[ ES(EX) 726,040 724,000 2,040
= 726,040
401 AlEHIZ S 0HbI 726,040 724,000 2,040
= 726,040
01 Al&H| 726,040 724,000 2,040
O=Jlotd |2+ 726,040
= 726,040
SUHLEHMEH LS LS (HEAH0ZHS) 3,477,000 0 3,477,000
= 3,477,000
401 Al HIZ S OHbI 3,477,000 0 3,477,000
== 3,477,000
01 Al&HI 3,477,000 0 3,477,000
SUHE S22 LS (HSAHOI
EEd=) 3,477,000
= 3,477,000
aotd &l 1,104,000 4,419,000 A3,315,000
aotd EHl 310,000 2,765,000 A2,455,000
401 Al HIZL 2018 310,000 2,765,000 A2,455,000
02 Zeltl 300,000 300,000 0
Oa0td FHIAE S8 2l 300,000
03 AIESTHYI 10,000 10,000 0
OA5HE ZH| AlE 20 10,000
2ot R - 2 494,000 154,000 340,000
202 04| 4,000 4,000 0
01 =LHO LI 4,000 4,000 0
O4otd 2|2 = 4,000
401 Al HIZL 201 490,000 150,000 340,000




SA AL
T SHETY
chelr Aot FH| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 490,000 150,000 340,000
OZ4otd 0I=2SA 24 40,000
Oxotd RAE+ 450,000
24 Aokd Zdl 300,000 300,000
401 AlZHIZ SO 300,000 300,000
01 A28l 300,000 300,000
O&4 aotd Zdl 300,000
o= A 18,912,222 521,707 18,390,515
= 18,245,449
=S 546,059
s 120,714
7.9. ~ 19 A5Gt o= (XA 105,787 105,787
401 AIEHIZ SR OHYI 105,787 105,787
01 Al&HI 105,787 105,787
OFH Mgaotd ol =-(190m) 105,787
7.9. ~ 19 AGHE HHER(EX) 7,357,316 0 7,357,316
= 7,342,389
= 14,927
401 AlEHIZ 2018 7,357,316 0 7,357,316
= 7,342,389
Ea 14,927
01 AlZH| 7,357,316 0 7,357,316
OHE A0t THoH =SS AH160m) 139,627
= 139,627
OFE DIEAGHE TS+ 3 AH®Bm) 90,232
= 90,232
Od=s HAE2AGHE Mo =72 AH(140m) 100,219
= 100,219
OLS WMAAGHE THOH =SS AH(145m) 50,417
= 50,417
O L=A6HE THHS S AH115m) 97,373
= 97,373
OF& MIHSA6HE THaH=7SAH190m) 141,710
= 141,710
Od= =SAGHE oS3 AH3%0m) 322,868
= 322,868
OFQt IHEAGHE M= Z2AH70m) 82,881
= 82,881
O2 ZY A5t ol =7 S AH270m) 187,003
= 187,003
O2% &LAGHE THoH =SS AH180m) 112,893
= 112,893




A A4t
= SR EY
Selr THoHS A (S &S
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OHE 2ElL0td Mol =73 AH190m) 133,054
= 133,054
OAt2l &t)1elAote o= 73 AHS50m) 50,391
= 50,391
OAtel £248t& Tl =SS AH710m) 562,109
= 562,109
O&H ralASHE o= AH(110m) 81,660
= 81,660
O&Yd 534588 Mal=723AH100m) 98,213
= 98,213
o= HYAore Mal=3AH70m) 103,582
= 103,582
OFA OO MO0l A6HE M= S AH1,290m
) 640,279
= 640,279
O=28 A AGHE ol =SS AH0m) 69,114
= 69,114
O2% BsA5t& Tol=s 73 AH80m) 64,080
= 64,080
O 2 oHoISAGHA ol =73 AH205m) 82,236
= 82,236
O23d JatAotd Mol=73AH0m) 52,172
= 52,172
OAl2l RXIeHA8HE =S AHE0m) 100,018
= 100,018
OAtel 8XIDIA0HE THol =SS AH200m) 163,852
= 163,852
OF& SHAGHE Mol=s73AH160m) 118,778
= 118,778
OFQF HArAotE THoH =723 AH(190m) 130,157
= 130,157
OHE UMASIA Tl =73 AH180m) 100,314
= 100,314
OOt &S A8IA Mol =722 AH0m) 59,098
= 59,098
OAlel eEASIE Mo =222 AH110m) 107,659
= 107,659
OAtel SBt=4A0tE ol =S+ AH(180m) 193,042
= 193,042
OAtel AlISA8HE Mol =73 AH292m) 233,944
= 233,944
OFOoF Z2ASIA Mol =73 AH450m) 386,984
= 386,984




FA AL
ZE: SEEY
CHl: THoHSPALY
RA - BH - SHIEN) - HRAY - BAS ol &t A
O HBAGHE THoH =S AH250m) 177,306
= 177,306
OFA HE AotA =73 AHOm) 86,449
= 86,449
OZ2 2™ A6t M= S AH 126m) 53,212
= 53,212
OHot &= AGH =TS AHS70m) 337,103
= 337,103
O23 = Aot THol=S7SAHSm) 64,957
= 64,957
O2g XM AotA o =73 AH(190m) 52,534
= 52,534
OAle] S& AotA THoll =723 AH(445m) 321,074
= 321,074
OAr2l &éh AotE THoHS 73 AH(110m) 99,924
= 99,924
O=2& M= AGH T =S AH(165m) 82,422
= 82,422
OAfel 25 A5ta THOHS 7S AH170m) 104,774
= 104,774
OAz= XIH2 AGHE THOH =SB AH25m) 22,178
= 22,178
OXA A AotA THoH=73 AH60m) 39,626
= 39,626
OFA 0440] A6t MHaH= TS AH170m) 85,372
= 85,372
OZ4H &= A6t oSS AH3I0m) 22,271
= 22,271
OZY Efd AotE =73 AH30m) 27,839
= 27,839
OFHE &k AGHE THoH =2 AH100m) 27,538
= 27,538
OXA BY AodtA THoi=73 AH40m) 14,847
= 14,847
O&HA &= Aot TS 73 AH70m) 42,638
= 42,638
OAz= XI&1 AGHE THOH S S AH70m) 59,222
= 59,222
OAz Y AGHE THOHS S AH40m) 13,836
= 13,836
OFA =2| Aotd THoi=73 AH20m) 8,984
= 8,984
OFH HE AGHE o= 7S AHS0m) 21,515




SN A4t
M SIAEA|
2l o= AH (CH9): &S
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 21,515
OAZ= L= ASHA THOH=E T ZAH30M) 16,703
= 16,703
OLz= 25 AolA Moll=72Z2AH45m) 35,574
= 35,574
OZE &Il Aot Moll=72Z= AH40m) 22,271
= 22,271
OLS AltH2 Aotd THH= 72 AH30m) 28,056
= 28,056
OAH ot AotAd Mol=7=AH65m) 30,115
= 30,115
OHE = A THOH=ETZAH30M) 19,130
= 19,130
OZE =8 Aold Mol=72Z2AH20m) 30, 161
= 30, 161
OZE8 MRL A THol=E7Z= AHS30m) 37,851
= 37,851
O 22 A0l Mol=72Z=2AH10m) 10,316
= 10,316
O Het A0tA™ Mol=72Z=AH10m) 10,238
= 10,238
Oaz JAFB AoIE Mol =73 AH60m) 55,677
= 55,677
OE2H == Aold Mol=72Z2AH20m) 16,703
= 16,703
OAz= 2= A5tA Mol=2Z=2AH60m) 33,406
= 33,406
O&H == A0l Mol=2Z=2AH(16m) 12,506
= 12,506
O&FHA [MAIZ Aotd THH=FZ2AHA40m) 29,694
= 29,694
O&FA EH AcH™ THH=ETZAH40m) 23,409
= 23,409
OEH RO AdlA Mol=72Z=2AH20m) 17,253
= 17,253
OZs & AolA Mol=2Z=AH60m) 70,223
= 70,223
OHEZ oS4 A5t Mol =23 AH40m 20,058
= 20,058
O22Z A0 Aot™ THoH= T2 AH40m) 35,594
= 35,5%
OHNE st Ao THH=E T ZAH40m) 23,954
= 23,954




A A4t
BH: 512 FY|
Selr THoHS A (SH &)
M- B - 2(31) - HIRAY - BAS ol &k G o HlmS2
O=Z2 M3 A0t Mol =53 AH20m) 20,477
= 20,477
Od2 843 A0 Mol =+= AHB0m) 54,550
= 54,550
OHE MYOl A5+ MHaH= -3 AHE) 44,542
2 44,542
OFH 2t=2 AGHE THoH =SS AH25m) 19,511
= 19,511
O&H 28 A0A ol =73 AH40m) 17,764
= 2,837
i 14,927
7.9. ~ 19 XY MeH=ER(EX) 1,092,119 1,092,119
= 546,060
& 546,059
401 AIEHIZL 28I 1,092,119 1,092,119
= 546,060
= 546,059
01 Al&Hl 1,092,119 1,092,119
OAle] B2& XIgote o= 73 AH550m) 338,084
= 169,042
= 169,042
Oaz N0HA XIgotE oS3 AH190m) 255,729
= 127,865
& 127,864
Ot L&A (2EXF) XIUGHE TS+
2 AH(135m) 142,881
= 71,440
= 71,441
O1lar SEA XotE THoH =73 AHEI0m) 87,885
= 43,943
& 43,942
OHZE AH(MEXT) XNLYSA MHH=E73
AH(250m) 82,838
= 41,419
= 41,419
O&H N2SA XYsta THaH=73AH200m) 66,433
= 33,216
= 33,217
O3 MaA Kot MoH=73AH55m) 66,244
= 33,122
& 33,122
OZH HHE(EHLXT) XotE Mol=72
H(90m) 52,025
= 26,013




SA AL
I SHEFY
CHl: THoHSPALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 26,012
7.9. ~ 19 SEEXLOIE Mo =+ 5,512,000 0 5,512,000
= 5,512,000
401 AlZHIZ S 0HbI 5,512,000 0 5,512,000
= 5,512,000
01 Al&H| 5,512,000 0 5,512,000
07.9. ~ 19 SdEX Lot MaH=+ 5,512,000
= 5,512,000
7.9. ~ 19 dEIXLoIE Mol == 4,845,000 0 4,845,000
= 4,845,000
401 AIEHIX R0 4,845,000 0 4,845,000
= 4,845,000
01 Al&H| 4,845,000 0 4,845,000
0O7.9. ~ 19 dad X Lot& Mol = 4,845,000
= 4,845,000
A0LE HE2CIAAE 490,000 227,500 262,500
= 245,000
= 245,000
20t ADIEASAAE A 490,000 227,500 262,500
= 245,000
= 245,000
401 Al HIZ 01| 490,000 227,500 262,500
= 245,000
Ea 245,000
01 A28l 490,000 227,500 262,500
AGHEHEZRIANAE AF(HERA S 7N
) 490,000
= 245,000
o 245,000
HY2HZHI(ALD) 453,766 760,373 A306,607
ol (A1) 424,282 732,275 307,993
I (AL D) 424,282 732,275 307,993
101 @1A4H| 420,000 728,299 /308,299
03 SRA(RIH )22 U2+ 420,000 728,29 A308,29
Ox==23 2l 420,000
-QIRA(149) 420,000
201 Ler23 | 4,282 3,976 306
01 At2teltl 4,282 3,976 306
Oul=Hl 4,282
-2 15,0003 * 14 »23] 420
-Sgs 52,0008 1413 728
-get=s 10,0002 14 *13] 1,540
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